Linear regression

Thursday

Initials
1TB
2JH
3SCh
4 TK
51Ka
6 KK
7 IKI
8 MK
9 LK

10 MM
11 DS
12 MS
13§
14 7T
15 DT
16 MT
MC

Task 1 Task 2 Task 3 Task 4
a(5p) b(10p) c(8p) d(7p) a(5p) b(7p) c(8p) d(8p) e(5p) a(3p) b(4p) c(5p) d(Sp) a(4p) b(4p) c(5p) d(7p)
4 5 3 3 35 3
5 4 4 4 6 1 0 3 2 3 25 35 5
4 5 4 4 4 7 7 4 0 3 4 5 5 3 3 45 6
5 2 4 4 25 4 55 6 5 25 35 5 3 3 35 45 6
4 0 4 4 4 5 0 5 15 2 3 3 4 3 4 65
4 3 1 15 3 6 3 0 3 35 3 4 0 2 1 5
1 2 0 0 4 0 55 0 0 0 15 0 1 0 0 0 3
4 5 2 4 4 7 4.5 0 0 0 3 45 3 2 45 5
2 0 0 2 4 5 45 5 15 1 25 2 3 0 1 1
4 0 0 0 4 7 0 0 3 2 3 4 4 3 5 0
1 0 1 1 4 2 55 3 5 15 4 5 35 1 15 1 65
3 2 4 35 4 5 4 5 3 2 25 3 3 4 5 0
4 0 0 2 4 6 0 0 1 4 45 3 25 05 3 55
1 1 3 4 5 75 5 3 4 5 5 3 15 4 7
4 1 3 3 25 4 7 2 0 3 35 35 3 2 35

For successful completion of the test at least 55 points are needed.
The retake of the final test takes place on Thursday, January 10, 2019 (15:40, K1)

Model solutions to the test tasks will be demonstrated at the exercise session on Thursday, January 3, 2019.

SUM
100p
65.5

72.5
69
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